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Q) 4 can doa jobin 3 days less time than B. 4 works at it alone
for 4 days and then B takes over and completes 1t. If
altogether 14 days were required to finish the job, then in
how many days would each of them take alone to finish i1t?

(@) 17 days,20days (b) 12 days, 15 days
(¢) 13 days, 16 days (d) None of these

def B fakes X dys 5 A fakes (2-3) days.
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Q) 4 can doa jobin 3 days less time than B. 4 works at it alone
for 4 days and then B takes over and completes 1it. If
altogether 14 days were required to finish the job, then in
how many days would each of them take alone to finish i1t?
(@) 17 days,20days (b) 12 days, 15 days
(¢) 13 days, 16 days (d) None of these

Ans: (b)
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Q) A group of men decided to do a job in 4 days. But since
20 men dropped out every day, the job completed at the
end of the 7th day. How many men were there at the

beginning? \
(@ 240 X

(b) 140
(© 280 d) 150

44 = (1x%) 4 (1x(x-20) + . /;s(x-(zoxé))

hr = ar (1 -20)¢(x-0) + (x-60) + (z-a‘o)+ (x-100) + (x-/zry
it = 92+ (-!fzo)
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Q) A group of men decided to do a job in 4 days. But since
20 men dropped out every day, the job completed at the
end of the 7th day. How many men were there at the
beginning?

(@ 240 (b) 140
(c) 280 (d) 150

Ans: (b)



CDS & AFCAT 1 2025 LIVE - MATHS - CLASS 4

Q)A can do 50% of the job in 16 days, B can do
1/4th of the job in 24 days. In how many days can they do
3/4th of the job working together?

@ 24 () 9 © 21 () 18
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/ouz — 32 a/adcr ] —— afxy = 7¢ q’ﬁg
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Q)A can do 50% of the job in 16 days, B can do
1/4th of the job in 24 days. In how many days can they do
3/4th of the job working together?

@ 24 (b 9 © 21  (d 18

Ans: (d)
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Q) A and B can together complete a task in 18 hours. After
6 hours A leaves. B takes 36 hours to finish rest of the task.
How many hours would A have taken to do the task if he
worked alone?

(a) 4 (b) 45 (c) 21 (dy 27
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Q) A and B can together complete a task in 18 hours. After
6 hours A leaves. B takes 36 hours to finish rest of the task.
How many hours would A have taken to do the task if he
worked alone?

(a) 4 (b) 45 (c) 21 (dy 27

Ans: (d)
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Q) Two workers ‘4’ and ‘B’ working together completed a job
in 5 days. Had ‘4’ worked twice as efficiently as he actually
did and ‘B’ worked one-third as efficiently as he actually
did, the work would have completed in 3 days. In how many
days could ‘4’ alone complete the job?

1 1 1 1
(@) 37 days |(b) 4z days (c) 5o days (d) 6 days

’ k -_( - L
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Q) Two workers ‘4’ and ‘B’ working together completed a job
n 5 days. Had ‘4’ worked twice as efliciently as he actually
did and ‘B’ worked one-third as efficiently as he actually
did, the work would have completed in 3 days. In how many
days could ‘4’ alone complete the job?

1 1 1 1
(a) 3 E days (b) 4 E days (C) 5 5 days (d) 6 Z days

Ans: (d)



CDS & AFCAT 1 2025 LIVE - MATHS - CLASS 4

Q) Two pipes A and B can fill a tank in 36 min. and 45 min.
respectively. A waste pipe C can empty the tank in 30 min.
First A and B are opened. After 7 min., C 1s also opened. In

how much time, the tank 1s full?
(@ 60min (b) 30min
(¢) 39min (d 13min

Lo, )= 7 5*“’129(_7_;
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Q) Two pipes A and B can fill a tank in 36 min. and 45 min.
respectively. A waste pipe C can empty the tank in 30 min.
First A and B are opened. After 7 min., C 1s also opened. In
how much time, the tank 1s full?

() 60min (b) 30min
(¢©) 39min (d 13min

Ans: (c)
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Q) Working together A and B can doajobin 40 days, Band Cin
36 days and all three together in 24 days. In how many days
can B alone do the job?

@ 60 (b 0 © 72 (d 120
4 o, 4 - L @*@ -9,
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Q) Working together A and B can doajobin 40 days, Band Cin
36 days and all three together in 24 days. In how many days
can B alone do the job?

(@ 60 (b) 9% (c) 712 d) 120

Ans: (b)
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Q) In a water tank there are two outlets. It takes 20 minutes to
empty the tank 1f both the outlets are opened. If the first
outlet 1s opened, the tank 1s emptied in 30 minutes. What 1s
the time taken to empty the tank by second outlet ?

(@) 30 minutes (b) 40 minutes
(¢) 50 minutes (d) 60 minutes
‘ Vo,
Alml.y) _@ min{
L - L 1
90 A 4 B
A - L F L '-'] L - L _ I =
0 30 & 8 dJo 30
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EXAMS

Q) In a water tank there are two outlets. It takes 20 minutes to
empty the tank 1f both the outlets are opened. If the first
outlet 1s opened, the tank 1s emptied in 30 minutes. What 1s
the time taken to empty the tank by second outlet ?

(@) 30 minutes (b) 40 minutes
(¢) 50 minutes (d) 60 minutes

Ans: (d)
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Q) If 6 men and 8 women can do a piece of work in 10 days; and
13 men and 24 women can do the same work in
4 days, then what 1s the ratio of daily work done by a man to

that of a woman ? k

@ 2:1 H b) 1:2 L

c) 4:3 d) 3:4 x
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EXAMS

Q) If 6 men and 8 women can do a piece of work in 10 days; and
13 men and 24 women can do the same work 1n
4 days, then what 1s the ratio of daily work done by a man to
that of a woman ?
(@ 2:1 (b) 1:2
(c) 4:3 d 3:4

Ans: (a)
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EXAMS

Q) The efficiencies of A, B and C are in the ratio of 5: 3 : 2.
Working together, they can complete a task in 21 hours. In
how many hours will B alone complete 40% of that task?

(@ 28 (b) 24 (¢) 35 (d) 21
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EXAMS

Q) The efficiencies of A, B and C are in the ratioof 5 : 3 : 2.
Working together, they can complete a task in 21 hours. In
how many hours will B alone complete 40% of that task?

(@ 28 (b) 24 (¢) 35 (d) 21

Ans: (a)
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Q) To do a certain work, the ratio of efficiency of A to that of B
1s 3 : 7. Working together, they can complete the work in

10% days. They work together for 8 days. 60% of the

remaining work will be completed by A alone in:

(@ 5 %days (b) 5 days

(c) 6%days (d) 4 days

EXAMS
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Q) To do a certain work, the ratio of efficiency of A to that of B
1s 3 : 7. Working together, they can complete the work in

10% days. They work together for 8 days. 60% of the

remaining work will be completed by A alone in:

(@ 5 %days (b) 5 days

(c) G%days (d) 4 days

Ans: (b)

EXAMS
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Q) A hot pipe takes 3 minutes longer to fill a tank than the cold
pipe. Together they take 6 minutes 40 seconds. Time taken
by the cold pipe alone to fill the tank 1s
(@) 6min (b) 18min
(c) 9min (d) 12min
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Q) A hot pipe takes 3 minutes longer to fill a tank than the cold
pipe. Together they take 6 minutes 40 seconds. Time taken
by the cold pipe alone to fill the tank is
(@) 6min (b) 18min
(c) 9min (d) 12min

Ans: (d)
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Q) Threepipes A, B and C can fill a tank from empty to full in 30
minutes, 20 minutes and 10 minutes respectively. When the
tank is empty, all the three pipes are opened. A, Band C
discharge chemical solutions P, Q and R respectively. What
1s the proportion of solution R in the liquid in the tank after
3 minutes?

5 6
(a) 11 (b) 11
7 8
(©) 11 (d) 11
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Q) Threepipes A, B and C can fill a tank from empty to full in 30
minutes, 20 minutes and 10 minutes respectively. When the
tank is empty, all the three pipes are opened. A, Band C
discharge chemical solutions P, Q and R respectively. What
1s the proportion of solution R in the liquid in the tank after
3 minutes?

5 6
(a) 11 (b) 11
7 8
(©) 11 (d) 11

Ans: (b)
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Q) Two pipes can fill a cistern 1n 14 and 16 hours respectively.
The pipes are opened simultaneously and 1t 1s found that
due to leakage in the bottom, 32 minutes extra are taken for
the cistern to be filled up. If the cistern 1s full, in what time
would the leak empty it ?

(@) 110hr (b) 112hr (¢) 115hr (d) 100hr
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Q) Two pipes can fill a cistern 1n 14 and 16 hours respectively.
The pipes are opened simultaneously and 1t 1s found that
due to leakage in the bottom, 32 minutes extra are taken for
the cistern to be filled up. If the cistern 1s full, in what time
would the leak empty it ?

(@) 110hr (b) 112hr (¢) 115hr (d) 100hr

Ans: (b)
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Q) The work done by aman, a woman and a child 1s 1n the ratio
of 3:2: 1. There are 20 men, 30 women and 36 children in a
factory. Their weekly wages amount to < 780, which is
divided 1n the ratio of work done by the men, women and
children. What will be the wages of 15 men, 21 women and
30 children for 2 weeks ?

(a) 585 (b) 2925 (c) 1170 (d) 900
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Q) The work done by aman, a woman and a child 1s 1n the ratio
of 3:2: 1. There are 20 men, 30 women and 36 children in a
factory. Their weekly wages amount to < 780, which is
divided 1n the ratio of work done by the men, women and
children. What will be the wages of 15 men, 21 women and
30 children for 2 weeks ?

(a) 585 (b) 2925 (c) 1170 (d) 900
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Q) The work done by aman, a woman and a child 1s 1n the ratio
of 3:2: 1. There are 20 men, 30 women and 36 children in a
factory. Their weekly wages amount to < 780, which is
divided 1n the ratio of work done by the men, women and
children. What will be the wages of 15 men, 21 women and
30 children for 2 weeks ?

(a) 585 (b) 2925 (c) 1170 (d) 900

Ans: (c)
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Q) A cistern has two taps which fill it in 12 minutes and 15
minutes respectively. There 1s also a waste pipe in the
cistern. When all he three are opened, the empty cistern 1s
full in 20 minutes. How long will the waste pipe take to
empty the full cistern?

(a) 10mn (b) 12min
(¢c) 15 (d) None of these
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Q) A cistern has two taps which fill it in 12 minutes and 15
minutes respectively. There 1s also a waste pipe in the
cistern. When all he three are opened, the empty cistern 1s
full in 20 minutes. How long will the waste pipe take to
empty the full cistern?

(@) 10min (b) 12min
(¢c) 15 (d) None of these

Ans: (a)
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